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QUESTION 1

Which EtherType is used by the FCoE Initialization Protocol?
A. 0x8913

B. 0x8914

C. OxxfcOe

D. 0x8906

Correct Answer: B

QUESTION 2

A domain ID conflict is detected on a switch. Which action resolves the issue in the shortest possible time after the
preferred domain ID is changed to a static domain ID?

A. Issue an fcdomain disruptive restart.

B. Issue an fcdomain nondisruptive restart.

C. Enter the commands for a VSAN suspend / no-suspend.

D. Enter the commands to complete a domain manager fast restart.

Correct Answer: A

QUESTION 3

Refer to the exhibit.

MDS-Core
IVR

MDS Edge

fel/1

fc1/2 T fc1/2

Array 10 - vsan 10 Cost =500 Server 20 —vsan 20

MDS-Core# show ivr vsan-topology
AFID SWITCH WWN Active Cfg. VSANS

Total: 1 entry in active and configured IVR VSAN-Topology

pWWN = 10:00:00:00:00:00:10:0a PWWHN = 20:00:00:00:00:00:20:0a
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An engineer is configuring Inter-VSAN routing for two Cisco MDS switches. The FSPF cost between the switches is
500, and the Cisco MDS core virtualizes an IVR NAT domain as shown. Which statement about the topology is correct?

A. The MDS-Core simulates an IVR NAT, and the FSPF cost is 500.

B. The MDS-Core simulates an IVR NAT, and increases the cost to 501.
C. The MDS-Core simulates an IVR NAT, and decreases the cost to 400.
D. The MDS-Core simulates an IVR NAT, and increases the cost to 600.

Correct Answer: B

QUESTION 4

A storage administrator is enabling DH-CHAP for the first time on a Fibre Channel fabric. Which condition must the
administrator consider while configuring this feature?

A. NTP must be configured on all devices or the configuration fails.

B. The MD5 hash must be used if TACACS+ or RADIUS authentication for FCSP is enabled.
C. All switches on the fabric must be configured for the same password.

D. Enabling DH-CHAP protocol feature is unsupported on FCIP interfaces.

Correct Answer: B

QUESTION 5

Refer to the exhibit.

300-625 PDF Dumps | 300-625 Practice Test | 300-625 Study Guide 3/4


https://www.pass4itsure.com/300-625.html
https://www.pass4itsure.com/300-625.html
https://www.pass4itsure.com/300-625.html

VCE & PDF https://www.pass4itsure.com/300-625.html
a 2024 Latest passditsure 300-625 PDF and VCE dumps Download

— PassditSure.com

MDS-A# show run interface port-channel 2
interface port-channel?Z

channel mode active

switchport description ***Connected to FI***
sw_tchport rate-mode dedicated

MDS—-A# sh port-channel database

port channel?

Adninistrative channel mode 1s active
Operational channel mode 1is active
Last membership update succeeded
First operational port is fcl/9

2 ports in total, 2 ports up

Porta: fcl/9 [ap] *

fcl/10 [up]

A port channel has been configured between a Cisco MDS and a Cisco Fabric Interconnect switch. Which interface(s) in
the port channel carry the control plane traffic?

A. per packet, balanced between interfaces fc1/9 and fc1/10
B. from interface fc1/9

C. from interface fc1/10

D. per flow, balanced between interfaces fc1/9 and fc1/10

Correct Answer: D
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